AA20 Answers to Selected Exercises

Section 2.5

Check Point Exercises
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glv) =2int(x + 1)

121. 123. y=Vx -2 124 y= —x*+2 125. y=(x+1)* -4

126. y=Vx—-2+1 127. a. First, vertically stretch the graph of f(x) = Vx

by the factor 2.9; then, shift the result up 20.1 units, b, 402 in.; very well

¢. 0.9in.permonth  d. 0.2 in. per month; This is a much smaller rate of change;

Hfosl The graph is not as steep between 50 and 60 as it is between 0 and 10.

TP 128. a. First, vertically stretch the graph of f(x) = V/x by the factor 3.1: then, shift

h(x) = int (-x) - 1 the result up 19 units. b. 40.5 in.; very well ¢ 1.0in.permonth  d. 0.2 in. per
month; This is a much smaller rate of change; The graph is not as steep between 50 and 60
as it is between 0 and 10.

hix) =int (-x) + 1




